PRACTILE TesT L

D(/D/ = /—-E
[)
) tompte  E(P) o ferms of p

L) ab 2= 3 , whkdt g 6/@57‘)(45?

C) For whed P s M ot 1 !,/ad’/‘lcwgl



o <> "[&:7&:& Tie
Cunrt \7 £
o duble and cr Fwz Y
lalel
i /mc.x h V/
orfrest o :
57 ~Mc/c(uz.

x=>1T

Cned
& ! Cawj. Frw( 1'
- foo)



Sy Frieed Ax
*(B g xty = Xy 4

<=

(
= Fud Olj/d)(
b) L\’]z (/(/7’-{' (,Q’L) u-=



f . da Ao
fo @@SML P wt do re WMQ:{"; e 107, Qngfﬁa

4 ' to 8 ot .
CoMlOn/?’L Ba’a\hce “FW 2 7,9”;' 2 [4) =

@ Same ot @ bt s soloe exactly | witn cont Cdkfawd/t?

X 2%
@%%Xt{' R 2 =141



K:@ L&J: ‘(S-'—)(Z,.L “%X‘f’g:/l' fb(): C{L(g(—)()

a) CW(,JQ MW\J et a~ed MS:M (revemn_

b> U WW/? cay{' +o 22’(’\ cost of ™= ot

e} e kel st of Yh vt



